LO: T can use irwerse operations to- check answers to caleulations.
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Calculate the answers to the following calculations and check by using the inverse operation.

L 126 113 4 358

- 113 + 13 - 346 +

013 - 126

1 5 334

+ 124 - - 124 -
3 237 ® 511

- 124 + - 230 +
7 993 10 243

- 723 + + 164 -
8 713 473

+ 475 - - 137 +
9 724 12 967

- 251 + +932 -
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There are 115 pencils in the cupboard. 82 are given out to the children.

How many are left in the cupboard?

Edward buys a drink for 82p. He pays with a £1 coin. What change does he receive?

A flower market has 682 tulips. One florist buys 255 tulips and another 208 tulips. How

many are left?

A sweet shop has 591 boiled sweets in jars. One jar containing 164 sweets and

another containing 153 are sold. How many are left?

A farmer has 609 cows. He takes 246 to a new field and 176 to a shed. How

many are left behind?




LO. To recall and, use multiplications and, disisior facts for the 3, [ and, 8 multiplicatiory
tables.
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126 - I3 = 13 wrwrerse: I3 + 13 = 126

121 + 120 = 205 wrweerser 205 - 12 = 12| or 205 - 121 = 121,
237 - 121 = I3 vwerse: 12(. + I3 = 237

358 - 3.6 = 12 uvwerse: 3.6 + |2 = 358

330 - 123 = 2l irweerse: 123 + 2Il = 330

Sl - 230 = 28| wrwrerser 230 + 28| = Sl

993 - 723 - 270 wrwerse: 723 + 270 - 943

713 + 175 = 188 rwerse: 1B8 - 75 = 713 on 188 - 713 = .75
. 12l - 251 = L73 wwerse: 231 + 73 = 721,

2L.3 + 16l = LO7 rwerse: LO7 - 16l = 2L.3 o~ [LO7 - 2L.3 = l6L
L 73 - 137 = 336 wrwerse: 137 + 336 = .73

2. 267 + 932 = 199 rweerse:r 199 - 932 = 267 or 199 - 267 - 932
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o523 + 7L - 697

2. 6L.2-300 - 3.2
3. 4l -827-87
L. 2L9 + 56 - 765
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L 6%8-32

2. 2L +8-3

3. 30 % L - 120

[ L2+1 105 Buyl packs with 2 lef over



